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QUESTION 1

Information that is needed to resolve problems is difficult to obtain because IT staff are worried that they will be blamed
for mistakes.

Which concept can MOST help to resolve this?
A. Safety culture

B. Design thinking

C. Valuable investments

D. Agile

Correct Answer: A

QUESTION 2

Which concept is PRIMARILY concerned with multiple teams moving to a cross-functional way of working?
A. Organizational structure

B. Employee satisfaction measurement

C. Working to a customer oriented mindset

D. The value of positive communications

Correct Answer: A

QUESTION 3

Which is an example of results-based measurement and reporting?

A. Measuring and reporting the number of hours worked by service desk employees
B. Measuring and reporting the number of supplier-related interruptions to a service
C. Measuring and reporting the customer satisfaction with closed incidents

D. Measuring and reporting the cost of providing a service to customers and users

Correct Answer: C

QUESTION 4

Which statement about user communities is CORRECT?
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A. User communities are created by service providers to investigate the cause of problems
B. Communities set up by users may be recognized and supported by service providers

C. Informal user communities should be disbanded and merged into official groups

D. Every user community should have at least one super-user

Correct Answer: B

QUESTION 5

The CIO of a large multi-national organization has noticed that the whole IT department are performing poorly. The CIO
is committed to changing the behaviour patterns of their staff to improve performance across the whole IT department.

Which of the following will BEST help to improve staff behaviour?

A. Running safe to fail experiments that provide learning opportunities

B. Comparing the cost of delay\\' between work items to ensure that financially valuable work is prioritized
C. Implementing CI/CD toots to deploy software quickly

D. Adopting Kanban boards to visualise the flow of work across software development teams

Correct Answer: A
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